Chapter 2.3 Notes
Lines
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1. Find the slope of the line and interpret the slope.
Poinks 1 (0,00 3,4

* we begin by writing down both ordered pairs, over one

X ¥ %2 pair write Xy, Y, . Over the other pair write XQ, )
LO\ 0) L3, 9) * Then we will use the slope formula.
* replace each letter with the number that
%\OQC- corresponds with it in your ordered pairs.
\? ™ = _ \5 *Then solve the problem using calculator if
P i) needed.
X Y\ * This answer will be your slope.
2 My
™= 4-0 4
2-0 3
S| ope =( 4
3

‘):’or' e,\/e;rx\,S 2~k Q)Nm%)'\h % ) the Ufmy\o&_) W t& 19 @Uhn'-s.

2. Find the slope of the line and interpret the slope.

Points:  (-2.2), (a,-»

Ko N Ka Ya
(-2, ) Lg 4} * we begin by writing down both ordered pairs, over one
A Y pair write X,, Y, . Over the other pair write Xa , Y;1

* Then we will use the slope formula.

Aot A2 * replace each letter with the number that
\_- \ﬂ Q- \,j\ corresponds with it in your ordered pairs.
*Then solve the problem using calculator if

Ao -%, needed.
* This answer will be your slope.
m< —1-9 -3
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3. Determine the slope of the line containing the given points. Graph the line.

Porars s (1,3, (3,-2)
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4. Determine the slope of the line containing the given points. Graph the line.

points - (-4 | (0,2)
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5. Graph the line containing the point P and having slope m.

P (Ce,® m=|
5

b
Y ﬁ\wpof— | o L @ * First graph the point given.
\ () * Then we use the slope to graph the next
point.
e %) * Always think of the slope as a fraction.
B \ * The top number tells you how many
iy places to go up (if + number) or
1 %f down (if negative number)
— X * Then the bottom number tells you
-t T oy ") how many places to to right.
1% * So you count up or down the top number
B and then right the bottom number and that is
4 where you place your 2nd point.
(')

6. Graph the line that contains the point (-3,-1) and has a slope of -1/3.

P= (-3,-1) Slape = -1
YRR S

-\
-j * First graph the point given.
_[ « * Then we use the slope to graph the next point.
] * Always think of the slope as a fraction.
4_ " * The top number tells you how many
places to go up (if + number) or
down (if negative number)
* Then the bottom number tells you
how many places to to right.
* So you count up or down the top number and
then right the bottom number and that is where
you place your 2nd point.
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7. Give the slope and the y-intercept of the line with the given equation. Then, graph the linear equation.

ye Qoo + 7] \Bzm‘*\’b&dﬂ\ww
\/ 's\ope,
NI - * This is currently in the slope intercept form.
ope = * The slope will just be the number in front of
“X”.
* The y-intercept will be the number at the end
by itself.
* To graph:

* Draw a point on the y-axis (one going
up and down) on the number for y-
intercept.

* If slope is not already in fraction form,

'%W’ make it a fraction my placing a 1 under
the number.

*Then use the slope and go up (if positive
number) or down (if negative number)
the number of units on the top of the
fraction.

) * Then go right the number on the bottom
of the fraction. Place a point at this
point.

£

8. Using the given equation, find the intercepts of its graph and graph the equation.

Ay +dy=l )
=\ 'X‘ \
MPS% b Q‘K{’%\J * ¥ye will actually write down the equation 2
imes.
a (_D) {_3\6 b A F3(0) =1, * The first time replace “X” with 0 and then solve
_ for “Y”.
O 4,%\6 7/(0 ‘9'% FO ’(O * The second time, replace “Y” with 0 and solve
20 =6 for “X.
By= b 2 2
R v =3
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9. Find the intercepts of the graph the following equation. Then graph the equation.

3%+Q3=q
X~ivy
%/\‘n * @)TQ—%QL
UQ\O&V S wWith @ . _ , ,
\)),\\?4\ 3‘)6 _\_LQ:X - 5%”& ks—_ q }c,ivr?wevg.” actually write down the equation 2
3 QO) 4_\0‘%_:’ q 3r¥, 4,(0 Lo)t—q * ;I;r;ezl(rst time replace “X” with 0 and then solve
Q + % = 2y +0O T’q * The second time, replace “Y” with 0 and solve
for “X”.
V) A T/q é% —“_q_
e G 5 3
\3 = q _ i L= S
@~ 4
(529 (%,0)

10. Find the equation for the line with the given properties. Express your answer using either the
general form or the slope-intercept form of the equation of a line.

Slopc, = 3 c,or\hi\r\"qss p&\r\*‘ 3 ﬁ})
Pose¥ Shop< * First, we have a point and a slope, so we
w\";’ \3 —\5 = M(f)(, -\ () X S will use the point slope form.
* Then we write down our points and place
_4 RN D VY X Y over them.
\3 = 5 Q xX- 5) * Then using our formula, we replace each

letter with the number that corresponds
\8 ’L{ ~ 3% _q M= B\Q’Pe) to it.
4 +4 3 * The “m” is replaced with the slope.

* Then to get rid of the parenthesis on the
\‘b - 2)% _5 right side, use the FOIL method.

* Then we want just “Y” on the left, so we

move the number on the left to the right

by doing the opposite.
* Now we are in the slope-intercept form.




Il. Find the equation for the line with the given properties. Express your answer using the general form or the
slope-intercept form of that equation of the line.

S\o:pc = = pd\‘n\;'— ( 3 ,"3> * First, we have a point and a slope, so we
3 will use the point slope form.
) * Then we write down our points and place
Q“&E\wb L(\fv Y > X X Y over them.
- * Then using our formula, we replace each
e R Ll 9 ;

letter with the number that corresponds

(3,3 to it.
\'b~ - D= ("X« -3 > : ) * 'I%Ie “m” is replaced with the slope.

* Then to get rid of the parenthesis on the
- (&) right side, use the FOIL method.
\'b'\ + 5 a— N~ Q 1) A% S\O‘) * Then we want just “Y” on the left, so we
3 /5 - A move the number on the left to the right
-5 “2 by doing the opposite.
* Now we are in the slope-intercept form.

12. Find an equation for the line with the given properties. Express your answer using the general form or
the slope-intercept form of the equation of a line.

S\op(_ = "'(_, %_inkrup{: - O’

Al

S\op / * Using the slope intercept form, replace the “m
W&P =~ MY+ b m*g]rc’gggtslope, and replace the “b” with the y-

183. Find an equation for the line with the given properties. Express your answer using either the general form
or the slope-intercept form of the equation of a line.

Contoining paints (3,7l) tnd, (5,75)

i YR Xq \5'!, * First we write down both sets of point and
3 LD &5 \,5> V\/t?]te X,Y, Over one set, and X, Y, over the
other.
%\090 * Then we must find the slope. Using the
S\opt A = _ -5- H‘Q | / slope formula, replace the letters with the
Tt \5'& \j‘ -~ 2 -2 _ = numbers that corresponds with them, and
ﬂ 5.3 | then solve for the slope.
2 P * Nest, since we know the slope and at least
i one point, we will use the point slope form.
Qo _ _ v * Replace the Y, , m, and the X, With the
S N LR Cw- ‘Xﬂ} numbers you have. ( remember m stands for
_ - 17N N the slope.)
\’& (‘:LQ\ - Z)‘ ("Y: ‘5> * Now use the distributive property to get rid
-1 3 of the parenthesis.
\?y reo = aYv - = * Lastly, move the number on the right to the
- ‘a left by doing the opposite.
\5 = _\5
R Y



14, Find an equation for the line with the given properties. Express your answer using the general form or the
slope-intercept form of the equation of the line.

’X-iv\’rcruphtg \3-inl-<ru{p+"g

Y Ankereept =3 - interept = - * First we make 2 ordered pairs; one
15 po"'r‘ S for the X-intercept and one for the Y-
So ordered poir S0 ordered intercept.
@ Ne)) ) * Then we use those ordered pairs to
YooYy, ¥ Yo find the slope.
* Then we will use the slope-intercept
: s| N form to write our equation.
th ( S\u‘)b * Replace the “m” with your slope
m= 59 - lj . -9 -0 % ad number, and replace the b with the y-
-~ —— = 3 intercept you were give in the
Yo =% 0-3 problem.

Slope, 'xnkfupi' ‘FDV'M

Yema +
/\S\opc i/b—mkfcap{‘

15. Find the equation for the one with the given properties. Express your answer using either the general
form or the slope-intercept form of the equation of the line.

Poarolled o the Lne WN-dw= -1 Cenfodning B point  (O.0)

- % =X g ‘-\&—w\

* First, we arrange the equation we are given

- ‘;)% = = - \ ;0"""7\ into the y-intercept form. This means getting

-+ Y :‘2 “y” on the left by itself and everything else on

7 2 the right.
* Once you do this, you know the slope is the

‘3 = _L " + 1 number in front of “X”.
) * Now we use the point-slope formula to find the

equation of the parallel line.
* Since it is a parallel line, they have the same
slope, so you will replace the “m” with your

slope.
\j - 51 = m (;y, -% ‘> Q %Q) * Then you replace y, And X; With the numbers
[ from the ordered pair.
\3 -0 = | * Then you simplify the equation, making sure
g)_ (_ ‘- O) use Pc«'\vﬁ— the you have “y” by itself on the left side.
Slope formudad
3= §x -0

¥ parolld \ines Nowe fho Some




16. Find an equation of the line with the given properties. Express your answer using the general form or the
slope-intercept form of the equation of a line.

Posrodlel Yo ¥ \ine 3v-y:=-L ')('__on\-cd\r\\h% Yo point  (0,0)

S 'Ls =l —— [EON T
TP - 5% o Y- “K’—Q‘qyr * First, we arrange the equation we are given
_ _ _ _ formy into the y-intercept form. This means getting
D= _?3_'76 10 “y” on the left by itself and everything else on

the right.

* Once you do this, you know the slope is the
number in front of “X”.

* Now we use the point-slope formula to find the

B

PR

't‘ equation of the parallel line.
Sl opC * Since it is a parallel line, they have the same
slope, so you will replace the “m” with your
_ _ (c,0) slope.
\3 ‘“B - m Q'x,’ Y ‘> X * Then you replace y, And X |, With the numbers
T\ = from the ordered pair.
- - * Then you simplify the equation, making sure
\3 =3 ( X - O) use po;w\— - the you have “y” by itself on the left side.
- s\
\8 = 2y - ape formud oo

17. Find an equation of the line with the given properties. Express your answer using either the general form
or the slope-intercept form of the equation of the line.

Perpendicdor to the ines Yz Tpg-d me.\mr\s Xre point (dile)

—_—

%= —3‘\6"(

&
/L/SlBPC S’\"P e s\of * The equation is already in the slope-intercept
« oI “\e form, so we do not have to rearrange it.
-1 = ;3_. 2 2 Oﬂd\r Sy bo&) \30& * The number in front of “x” is your slope.
3 | 2N * Since we are looking for a perpendicular line,
'\)%S\wpc we have to flip the slope and change the sign
Yoy, to the opposite. This will be your new slope.

Now use the point-slope form.

\5_\6\ = M("(X’—‘XJ)
* Replace the “m” with your new slope.
b = 5/\\ Replace the Y, And the X , ,with your
\?} - C Y - 9) preferred pair. Then we simplify the equation

O leaving just the y on the left side

\“&‘ o = %qc - Lo USe ot W and.everything else on the right side.
+, Yo S\ope This is the equation of the perpendicular line.
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18. Find the equation for the line with the given properties. Express your answer using either the general
form of the slope-intercept form of the equation of a line.

Perpendicdor 4o Hro line -y = - g le‘“-'m‘hg the paint  (0,5)

- L{y =" < Feamaroe. inko
- [X - Y-inveropt fom

* First we must rearrange the equation into the
y-intercept form. This just means getting “y”
on the left by itself and everything Elsa on the
right.

* The number in front of “x” is your slope.

* Since we are looking for a perpendicular line,
we have to flip the slope and change the sign
to the opposite. This will be your new slope.

* Now use the point-slope form.

* Replace the “m” with your new slope.

* Replace the Y. And the X ,with your
preferred pair. Then we simplify the equation
leaving just the y on the left side

i Y and.everything else on the right side.

\% — \'b‘ - MLQ{, o \) o S) * This is the equation of the perpendicular line.
-%, ,
T -9 = - (x-0
%‘?):_\\‘X/‘*‘Q uSﬁ,\
& ‘r\,\”’gee
5 4’5# Por e e




